Simplifying Polynomials

3(5x+ 4x3) + 8 — Tx — 8x°

3(x— 5x)—6x2+ Tx + 2x

2(5x3 — 5x)+ Tx— ox® — 2x°

2(5x2 + 7x2) +0x% + X% + 4x?

Ox — 6x7 + x + 5x — 2x°

Date: Score:

Ax + 45 +2(3%° + 6x) — 8x°

4x3 — 6)(2 + x2 + 6)(2 — 3x2

26+ 67 + X% — Ox + 3x°

6x° + 7 + X0 + 2(x2 — 3x)

X — 4 —4¢° + 3x+ 6x
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Simplifying Polynomials

Name:

3(5x+ 4x3) +8x— 7x — 8°
4> + 16x

3(x— 5x)— 6x% + Tx + 2x
—6x% — 3x

2(5x° — Sx)+ Tx— ox> — 2x°3

—x° — 3x

2052 + Tx) + 9 + 7 + 4x?
10x° + 28x

Ox — 602 + x + 5x — 2x°
2% — 6% + 15x

Date: Score:

4x + 4% +2(3%° + 6x) — 8x°
—2x3 + 4x% + 16x

4° — 617 +x7 + 617 — 3x
4> — 2o

2x+ 6x% +xF — 9x + 3x°
3 + T — Tx

6% + x> +x° + 2()62 —3x)
8> + 8x% — 6x

X — 4 —4x° + 3x + 6x
7> + 9x
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